Divide by 0.001 (C)

Find each quotient.

8.97 - 0.001 = 6.8+~ 0.001 =
8.5+ 0.001= 1.4+ 0.001 =
9.02 +-0.001 = 9.2786 = 0.001 =
2.65 +0.001 = 476 - 0.001 =
3.949 - 0.001 = 487 - 0.001 =
5.8+ 0.001= 7.8 +0.001 =
4.2357 = 0.001 = 7.4+ 0.001 =
2-+0.001= 6.825 = 0.001 =
9.1445 + 0.001 = 7.05+0.001 =
3.174 + 0.001 = 7.7+ 0.001 =
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Divide by 0.001 (C) Answers

Find each quotient.

8.97 +0.001 =8,970 6.8 =~ 0.001 = 6,800
8.5+ 0.001 =8,500 1.4+ 0.001 =1,400

9.02 +- 0.001 =9,020 9.2786 + 0.001 =9,278.6
2.65 +0.001 = 2,650 476 =~ 0.001 = 4,760
3.949 =+ 0.001 = 3,949 487 - 0.001 = 4,870

5.8 +0.001 =5,800 7.8 +0.001 =7,800
42357 +0.001 = 4,235.7 7.4+ 0.001 =7,400

2+ 0.001=2,000 6.825 + 0.001 = 6,825
9.1445 + 0.001 =9,144.5 7.05+0.001 = 7,050
3.174 + 0.001 = 3,174 7.7 +0.001 =7,700
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